BIOLOGICAL SCIENCE Question Pattern ( Class XI )

Section I | Section IT | Section IT Section 11 Section II
MCQ Very Short Short T
Stno.| Unit | (mark) | Short | Answer | = Answer Answer | TOTAL
Answer | Questions Questions .
Questions I 1I (qufzg:;::)
(1 mark) | (2 marks) (3 marks)
Diversity of |  1X2=2 -
1. Living 2X1=2 3X1=3 - 7
Organisms
Structural 1X3=3 1X1=1
Organizatio
% ns in Plants 2X1=2 3X2=6 - 12
and
Animals
Cell 1X2=2 -
sy e 2X1=2 3X2=6 5X1=5 15
function
T 3X2=6 5X1=5 18
Physiology
O B e B R A 3X2=6 5X1=5 18
Physiology
14 & 10 27 15 70
e Question paper will have two sections :
Section I : for MCQ ( Question Nos : 1 to 14)
Section Il will have four groups:
VSA (1 mark ) — one sentence answer ( Question No: 1to 4 )
SA1(2marks) -- (QuestionNo:5t09)
SAII' ( 3 marks ) -- ( Question No : 10 to 18)
LA (5 marks ) -- ( Question No : 19to 21)
e There should be no fractions in the marks distribution.
e For SA I, marks may be divided into 1+1
e For SA II, marks may be divided into 2+1
e For LA, marks may be divided into 3+2 or 4+1 .
e Option Summary :
Section | No Internal Option
Section II VSA Internal Option for at least any two questions
Section IT SA 1 Internal Option for at least any three questions
Section II SA 11 Internal Option for at least any five questions
Section II LA Internal Option for at least any two questions
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Special credit will be given for answers which are brief and to the point.
Marks will be deducted for spelling mistakes, untidiness and bad handwriting.
Figures in the margin indicate full marks for the questions.
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( English Version )

SECTION -1
MCQ Type
1. During meiosis crossing over occurs at
a) diplotene b) leptotene
c) pachytene d) diakinesis.

2.  Acetyl Co-A is produced from

a) glucose b) pyruvic acid
¢} oxaloacetic acid d) critic acid.
SECTION - 11
GROUP - A

Very Short Answer Type Questions (VSA)
Who is the father of Taxonomy ?
2 thch enzyme present in the R.B.C. can catalyze the following reaction ?
CO, + Hy0 —? H,CO;4
GROUP - B
Short Answer Type Questions ( SA-I)

1.
A
B
Label A and B. 1+1]
2. In which phylla do we find colloblast cells and choanocyte cells ? 1+1
3.  What is bicollateral vascular bundle ? 2
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GROUP -C
Short Answer Type Questions ( SA-II )

What is biodiversity ? What is the role of zoological gardens in conservation
of biodiversity ? 2+1
Explain with reasons which theory of enzyme action — Lock and Key Model
or Induced Fit Model is more acceptable. 3

Draw a necat diagram of the longitudinal section of ultrastructure of a
mitochondrion and label an Oxysome. ' 2+1

GROUP - D
Long Answer Type ( LA )
Schematically show the different steps of Glycolysis (names of enzymes not
required). S5

State three advantages of hydroponics. State the role of potassium in plant
nutrition. 3+2

Discuss the role of hormones in regulating the functions of kidney. What is
ureotelism ? 4+1



